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7l 1,541,629 1,455,417 86,212
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Al 2,205 1,470 735
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[~ 945 630 315
Al 2,205 1,470 735
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=2 12,720 14,400 A 1,680
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HH 25,440,000% 25,440 28,800 A3,360
2 12,720 14,400 A1,680
< 3,840 4,320 A480
Al 8,880 10,080 A1,200
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=2 7,500 14,500 A7,000
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Al 5,250 10,150 £4,900
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< 45,030 45,000 30
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402 BIZEXtE0| A 195,600 187,800 7,800
=) 58,680 56,340 2,340
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Al 16,380 10,920 5,460
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=) 30,114 30,114 0
Al 70,966 70,966 0
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J| 285 0 285
=) 16,650 16,650 0
Al 39,550 39,550 0
01 ATt EAEEX 56,485 56,200 285
OGWESEESE €SNI MY
30,0009 = 1998 = 50/100 285 0 285
J| 285 0 285
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=) 63,120 60,120 3,000
Al 147,280 140,280 7,000
101 1244 dl 12,500 0 12,500
J| 6,250 0 6,250
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Al 4,375 0 4,375
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pJ 13,500 0 13,500
= 4,050 0 4,050
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Al 70,685 72,435 A 1,750
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Il 28,700 30,900 A2,200
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Al 38,045 39,795 A 1,750
02 QIZIA AN B X 89,350 94,050 24,700
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J| 21,600 22,500 2900
= 8,640 9,000 A 360
Al 20,160 21,000 A B840
O &M SOHME (AL 22 ME a0}
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J| 1,500 3,000 21,500
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Al 1,050 2,100 21,050
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307 21201 & 72,536 73,501 A 965
Jl 36,268 36,751 A 483
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S 10,880 11,025 A 145
Al 25,388 25,725 A 337
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= 495,922 325,489 170,433
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Al 186,808 127,008 59,800
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= 279,452 208,676 70,776
< 45,240 33,786 11,454
Al 105,559 78,836 26,723
01 M= 4l 430,251 321,298 108,953
O Jisgy 457 2 & 430,251,000& 430,251 321,298 108,953
= 279,452 208,676 70,776
= 45,240 33,786 11,454
Al 105,559 78,836 26,723
307 21201 A 332,540 185,630 146,910
= 216,470 116,813 99,657
= 34,821 20,645 14,176
Al 81,249 48,172 33,077
02 It HAMAEE 332,540 185,630 146,910
O PHY @ PUXR(HYs)
Z & 251,000,000 251,000 119,990 131,010
= 175,700 83,993 91,707
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02 IZtE M AMHEE 81,000 79,400 1,600
O A=sX8 2 (2 =sLH)
Z & 81,000,000& 81,000 79,400 1,600
J| 40,500 39,700 800
=) 12,150 11,910 240
Al 28,350 27,790 560
A4t HEEFH(2H]) 142,300 140,000 2,300
= 29,883 29,400 483
< 20,918 20,580 338
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= 29,883 29,400 483
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Al 25,000 50,000 A 25,000
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0O s 28 SN 4 348,816,000& 348,816 419,250 AT0,434
Il 209,290 209,625 A 335
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